—rrara = —

Dual Frequency—TIransom Mount Transducer
Installation Instructions

g_ontents-
\
f
\

Transducer Transom Mounting Bracket
Mounts to the transom and holds
Tool List
Drill 3/8" Wrench or Socket
3/4" 532", 1/8" Drill Bits Scissors and Masking Tape
#2 Phillips Screw Driver Marine Seaiant (not included)

Assembling the Transducer

1. Insert the Rubber Washer and Plastic Spacer in the transgucer a tne same
time. DO NOT-lubricate the Rubber Washer.

10- 37 % 1.75" screw and insert the screw
pzcer and Rubber Washer.

ni. sk ramainiriny Sy Bl Uhised R . ¥ s d
giet g o I Tig 2Snet | & 2xposeq end ‘| lu‘nm s

10-32 Lock Nut iinge .'ugnl{see r:gure 1), me transducer will be tightenes
further after installation on boat.

o a Tacatine
=

Selectin

For your sonar to operate properly, the transducer has to be located in
clean (non-turhulent) water. The transducer should he monnted as near

]'\" center '\rﬂ-m ‘-v-_ r‘h- !vﬂ“qrh}(‘nv r‘}'}nn](] ]‘r‘ nr\q[][)npc <0

that it is not in the de‘n of the prop, or in the path of items on the hull tha:

may cause the water to become turbulent (Figure 2).

DO NOT place the transducor near stiakes, styuts, Bt
intake or d:scharge pon‘s or anythmg that causes the water to
become turbulent.

Mounting the Tiaasducer
1. Cut out the Transducer Mounting Teiplate provided with this documient,
2. Position the t¢
template is aligied with the botiuin ol tie baisuin, aiu tie lipidle w
positioned vertically. Tape the lemplale in piace {see Figure 3).

Ty - L S [ IS | GUY)

continued

Mounting Hardwa

< 1- 1/47 Rubber Washer
2 - 5mm Flat Washers
1 - Plastic Spacer
1-10-32 x 1.75” Screw
1- Cable Entry Cover

Figure 1

Do not locate the transducer behind 5
Strakes, Water Intake or Discharge Ports ﬁ——j
orother items gi e Tidl thiat may cause -
the water (o become © 7

14

inF

D not mownt the transducer directly in the path of

D?)L 7w the prop. The transducer can cause cavitation that

may degrade the boat’s performance and damage
the prop




3. Using the 5/32" bit, drill the pilot holes approximately 1" (25mm) deep =t
the locations indicated on the template. To avoid drilling the holes too czeo
wrap a piece of tape around the bit 1" from the point of the bit. Removz
the template from the transom.

4. Apply Marine Sealant to the 5 x 30mm screws.

5. Attach the transducer assembly to the transom using the 5 x 30mm screws.
Adjust the transducer to extend beyond the bottom of the transom appros-
mately 1/8" (3 mm) on fiberglass hulls or 3/8" (10mm) on aluminum hulls.
Eyeball the transducer to be aligned parallel with the water (see Figure 4).

6. Tighten the 10-32 locking nut until it touches the mounting bracket and
then tighten 1/4 turn more (do not overtighten).

Routing the Transducer Cable

hole or it may be necessary to dnll a hole in the [ransom to route Ihe cab._
through. Before drilling through the transom, make sure any wires, cable:
or lines are removed from the area inside the boat.

1. Using a 3/4" bit, drill 2 hole through the transom well above the waterlir

2. Route the transducer cable through the transom.
3. riace 1:'lt f..:.\ kuuwe -.nGrliJ an Lul( transt h:u i uml ,f Jpt i;‘lmutl.ly cne tr £
lh" distance t LVESH Wig :SUH—LIJL h 1% -J:i:. i ':i": ‘%:A '"MIID”

Usmg a 1/8" bit, drill a pilot hole approxlmately 3/8"(10mm) deep.

4. Attach the cable clamp using a 4 x 12mm screw. Coat the Scren y with
marine sealant before installation. Repeat steps 3 and 4 using the cther
cable clamp.

wn

. Coat the inside of th hole with marine sealant. Place the czbie entry
cover over the Uansducer cabie and the 3/4" hole and mark the screw
locations. Using a 1/8" bit, drill pilot holes appro)umately 3/8" (" )
deep. Coat the 4 x 12mm screws with marine sealant the:

Cable Entry Cover to the ransom.

\\ hen routing the transducer cable to the sonar, try 10 avoic | routir

lu! [ l\_\ ‘1‘_‘1 wires or Ol} 1er SoUrces oL ¢ lectrical inizrieTencs o

cabie w
careful not Lo cut the cable jacket while routing the cable. Do not cut the
transducer C'lble I[lhe cable is too long, coil the extra cable and secure it

nt ¥ % - AT AT Faalasw
h}IL is too ‘slm { contact vour GARMD e

using a cable I vour ¢

for an extension CJIJ]L.

Testing the Installation

When you place your boat in the water CHECK FOR LEAKS ar

workmg properly gradually increase the boat's speed obsening the sonar's
operation. If the sonar signal suddenly is lost or the bottom return is

hirh thie Are1re

soverely dearaded note the sneed at w
verely aegradeq, note the speea at v

2. Return the boat to the speed the signal was lost. Make moderate turns in
both directions and see if the signal improves.

Bottom of Transom '

“st the transducer so that is is parallel with the bottom. If the transducer is not
wod properly the sonar will experience degraded performance.

\\ )

hole well above the water line
ke inside af the hole with manne sealunt /

/

Clamps approximately %ul
¢ from the hole to the tranfducer

t Cable C

far all 4 x 12mm mount-
: manne scalant before

Viguie §




